YNWT20KW-RD12-V (FD12.0-20000)

Advantage :

-12m rotor diameter , big swept area

-20kw @ 140 rpm & 9 m/s

- electric pitch control , electric yawing

- brushless yawing motor, pitch control motor
- Siemens PLC S7-1200 , hydraulic disk brake
- gearless, direct drive, 3 phase ac permanent
magnet

- NSK bearing

« RS 485 communication, 3G SIM card remote
confrol

Generator;

= Type: Asynchronous, 22 poles (11 Pale pairs )

= Rating: 200W. 140rpm. 5S00WDC

* Generator: Permanent magnet (Nd-Fe-B) 385H

= Certificates CE

= NSKE bearings, long-term grease, rum 30000 houwrs
without maintenance

Component Weight:
Wind twrbine Mainbody : 2,100 kgs (2015 modal)
= Blades: 610 kgs
*  Tower weight : 3400kgs | thickness 6mm , 18m )

Operational Data:
= Start-up wind speed: 3m/s
= Rated wind speed :9my/s
= Cut-out wind speed: 35mys
*  Survival wind speed: 50m/s

Rotor:
» 3 bladed, upwind
*  Diameter: 12.0m
*  Swept Area: 113 m

Blades:
*  Fiberglass reinforced polyester
*  Techmology : via foaming
= Resin : American Ashland
=  Vacumme infusion technology, without bubble, high
strength | light weight

Protection Mode;
' Yaw
* Dump load
*  Manual/Automatic
*  Feathering propeller
*  Electromagnetic Brake
*  Disk brake system
* Temperature sensors for alternator and controller
*  Two sets proximity switches , dual protection

Controller;
= SIEMENS PLC 57-1200
*  SIEMENS Touch screen interface
* Remote control and monitaring by connecting PC
= [Battery voltage sensor
Dump load box with two steps unloading , safe and
reliable

Power Curve :

RPM ut Output

Wind Speed ( t/min ) mtii}:g:a (v) puw:‘ (w)
3m/s A7 167 748

4mis 62 222 1773
5mis 78 278 3464
Bm/s 93 333 5985
mis 109 389 9504
Bmis 124 444 14187
Sm's 140 500 20199
10m/s 156 556 27709
 11mis 171 811 36880




"1 |‘;|_._".
L | et

T P LA e N S R
1 Mainbod SET 1
Blade PCS 3
Outer hexagon bolt | 8.8 Grade M18*110 SET | 48 Ef;"_‘f:;ﬂiﬂ:::ﬁ:;m
¥C3*16 m 25 | Generator cable
Cable ¥C2*10 m 25 | yaw motor cable
2 ¥C2'6 m 25 | pitch motor cable
Line fixing board SET 4
Steel wire rope @8 L=12m PCS 1
Rope clip Ma PCS 5
Hand winch 30kw PCS 1
Outer hexagon bolt | 8.8 Grade M12°40 SET | 4 [Incucinglialgasketand
Controller cabinet | 20kw  SET 1 |
Anemometer SET 1
Anemometer Cable m 25
Signal Cable m 25
3 Anemometer holder SET 1
connecting anemomeater
Outer hexagon bolt 8.8 Grade M10*25 PC3 2 | holder and nacelle ,
including flat gasket
connecting anemometer
QOuter hexagon bolt B.B Grade M&"20 PCS 4 | and its holder ,including
flat gasket
4 Dump Load SET 1 with connecting line




20kw 18m Free Stand Tower Standard Components

Model Size Description | QTY Remarks

GBE762-86 | M16°55 bolts 12 o fasige Belis

GB93-87 16 washer 12

GB67B2-B6 | M24780 balts 24 |

GBG6170-85 | M24 nuts 24 middle flange (up) bolts
GB93-B7 24 washer 24

GBETE2-B6 | M27"B0 baolts 24

GBE6170-85 | M27 nuts 24 | middle flange (down) bolts
GB93-87 27 washer 24

foundation M32*2000 | baolts 12

fg;g::grﬁ 322 4500 :E:!': E bottom flange foundation bolts
GB93-87 32 washer 24

GBE783-86 | M12°40 bolts 12
| GB6170-85 | M12 nuts 12 brake system bolts
GB93-87 | 12 washer 12

GB6TB3-B6 | M12*30 baoits 27

GBB170-85 | M12 nuts 27

GB93-87 12 washer 27 | working platform bolts
GBETB3-86 | M16°45 baolts 20

GB93-87 16 washer 20

2015 new model :




Processing :




